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PART - A
SELECTING WORDS

Directions for the following 10 (ten) items :

Each of the following items in this section has a sentence w1th a blank space-and four words
or groups of words given after the sentence. Select whichever word or group of words you
consider most appropriate for the blank space and indicate your response on the Answer
Sheet accordingly. a :

q. T you to be at the party this 6. I always felt hungry T heard
evening. | the dinner bell. e
(a) look forward to
(b) hope
(c) expect

(b) as well as

(d) think

2. When I met Jol ' precaution,
the first time [ % ._ - Coule he accident.
Christmas ¢ ' y /AR _
(a) saw -

~ (b) have seen|
(c) had seen

(d) have been
_ to

(a) denied
(b) disliked
(c)  prevented

(d) refused '
- ' of that country was a

‘Wwickedness, insatiable in his
r blood and plunder.

- 4, The flow of blood was so
the patient died.

(a) intense (a) idea

(b) - adequate (b) vision

(c) profuse ) (c) lust

(d) extensive o3 Ley - (d) intention

5. You have never me about 10. Please don’t give me any more, I have

your experiences in America. . had

(a) said _ (a) few

(b) told ~ (b) too little

(c) explained ' i ' (c) little

(d) spoken : ~ (d) enough
GRS-U-EDF - A o 2
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ANTONYMS

Directions for the following 5 (five) items :

11.

In this section, each item consists of a sentence with a word underlined and is followed by
four words. Select the word that is most opposite in meaning to the underlined word and -
indicate your response in the Answer Sheet accordingly.

AMy first lecture in the classroom was a (c) irritable

- fiasco. : : (d) lovable

12.

" Directions for the ffollow

16.

17;

(¢) fun

(a) success . y
(b) joy 14. The birth of his child decidedly proved
~ to be an auspicious event in his life.

(d) disaster

(a) pleasant
(b) effortless
(c) interesting

(d) risky

(a) reserved
(b) gullible

‘In this section, ea \L nsists of a sentence wil rd underlined and is followed by

four words o ps of . Select the wie rou; at is most similar in
; )ONSE)in the Answer Sheet accordlngly

It 1s unwise to sever diplomati
with a nelghbounng country 0
matters.
(a) engage ¢ y
(b) estrange i ‘ 18. The polic.e .ﬁred indisc-rirninately at the
(6): Ut crowd, killing many innocent women
e ¢ and children.
(d) twist - :
: : (a) continuously
Bad tendencies are to be countered ' ' |
by good ones until all that is evil (b) without distinguishing
disappears. ‘

(a) opposed (c) foolishly

(b) balanced (d) rapidly

- LI, A - GRS-U-EDF
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 19. Businessmen who lack acumen cannot - 20. His cand1d opinions have won him many j

be expected to be very successful. ' friends.

(a) fairness ' (a) kind
~(b) - sharpness : . (b) courteous
~ (c) boldness ' (c) generous

(d) righteousness o1t ' (d) frank

SENTENCE IMPROVEMENT

Directions for the following 10 (ten) items :

ntence are given

In this section, look at the underlined
three possible substitutions for the

letter (a), (b)for (¢). [ - | licate (d) as your

response on| the A ill be signified by the
letter (d) ' i

21. I disliked hi

. 22. He preferre

(d) No improvement

23. T‘héy kept the. idea secretly.
(a) secreti\fe '
(b) secret
(c) secretively

(d) No improvement
GRS-U-EDF - A g 4
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24.

25.

He ought not to tell me your secret, but he did.
(a) telling =

(b) have told

(c) having told

‘(d) No improvement

If I don’t know the meaning of a word, I look it after in the dlctlonary

(a) look it out

- (b) look it for

26.

27.

28.

29.

30.

(c) look it up _
(d) No improvement

(a) a spectacle
(b) two spectacles
(c) a pair of spectacles
(d) No improvement

I would like to avail a fifteen dayS’ holiday this summer.
(a) to avail of :
(b) to avail myself of
(c) to avail myself '

(d) No improvement ;

5 " A — GRS-U-EDF
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SPOTTING ERRORS

~ Directions for the followmg 5 (ﬁve) items :

Each item in this section has a sentence w1th three underlined parts labelled (a), (b)
and (c). Read cach sentence to find out whether there is any error in any underlined part
and indicate your response in the Answer Sheet against the corresponding letter i.c., (a) or
(b) or (c). If you find no error, your response should be indicated as (d).

31, Icanfly ifIwillbe abird * No error
(a) (b) © @

32 As soon as the train arrived  the pa

(a)

33, Never 1
@

34, He goes to
(a)

3s. Far from bei

No error

(@

opmlon of the author only.

Passage — 1

We had just passed Tenah where I roused myself in order to hear the name of the station.
As I was falling asleep again, a violent jolt shot me into the arms of somebody in the seat
opposite. The engine with one wheel broken was lying across the track and beside it was the
luggage van, likewise, derailed. Groaning, wheezing, gasping, sputtering in its death agony,
the engine was like a fallen horse which, snorting, trembling in every limb, its flanks heaving,

- its chest labouring, seems incapable of making the smallest effort to struggle on to its legs
agam

GRS-U-EDF A | ' ' 6
Join Telegram : https://t.me/defenceekaksha



36.

37.

39.

40.

The author had roused himself as he
wanted to

(a) get off
(b) meet someone
(c) know the name of the station

(d) keep himself awake

The engine stopped because
(a) the driver had stopped it

(b) one of the wheels was broken

38.

Passage — 2

(c) there was a halting place

(d) there was no fuel

The engine is compared to a fallen horse
because

(2)
(b)
(c)

it was groaning like a horse
it was lying across the track

it could make no effort to stand
upright

(d) it had a broken wheel

I was beginning to tire a little now. I had been cutting steps continuously for two hours, and
Tenzing, too, was moving very slowly. As I chipped steps around still another corner, I wondered
rather dully just how long we could keep it up. Our original zest had now quite gone and it was
turning more into a grim struggle. I then realised(that the ridge ahead, instead of still
monotonously rising, now dropped sharply away, and far below I could see the North Col and
Rongbuk glacier. I looked upwards to see a narrow ridge running up to a snpowy summit. A few
more whacks of the ice-axe in the firm snow and we stood on top.

Which of|the following is the most
appropriate description of the area in
which the narrator had been moving ?

(a) A steep robk_y slope
(b) A peak with a flight of steps
(c) A high peak covered with snow

(d) A long ridge

‘I had been cutting steps continuously
for two hours’ suggests that

(a) the climber was unskilled in the art
of making steps

(b) he had to cut the steps out of snow
‘before climbing up which was
necessarily a slow process

7

41.

(c) the slowness was caused by the fact
_that as soon as he cut the steps they -
‘were again covered with snow

(d) he had to work suspended from a
ledge :

‘It was turning more into a grim

struggle’ would mean

(a) that after the long exertion he was
“feeling so weak that any further
climbing meant a hard struggle with
the forces of nature
(b) that Tenzing was making the task
- more difficult

that strong cold wind was pushing
him down from above and that he
had to struggle with the forces of
nature

(d

that he was in a mood to give up
ultimately

A — GRS-U-EDF
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ORDERING OF WORDS IN A SENTENCE

Directions for the following 9 (nine) items :

Each of the following items in this section consists of a sentence the parts of which have been
jumbled. These parts have been labelled P, Q, R and S. Given below each sentence are four
sequences nhamely (a), (b), (c) and (d). You are required to re-arrange the jumbled parts of
the sentence and mark your response accordingly.

43, Farm workers spend outdoors - most of their time
P Q R S
The proper sequence should be
(a) PQRS
(b) PRQS
() PQSK

43. He

The proper se
(a) PQSR
() PQRS
(¢ PSQR
d RSPQ

44.

(@ PQRS
() PRQS
() QRPS
"d QPRS

45. We advised  the hijackers to surrender to the police themselves
P Q ' R S
The proper sequence should be
(a PQRS ‘
(b)) PRQS
) " PQSR
(d RPQS

[

~ GRS-U-EDF - A ‘ ni 8 |
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47. e

48.

49, lhey

50.

46 ‘Sports cars appeal ~ to some motorists only with noisy exhausts

D Q R s T e
The proper sequence should be : '
(@ RQSP
(b)) PSQR
(c) RSPQ
(d PQSR

He almost .p]anned the entire strategy of operati'on: single-handed

P Q" ‘ R : S
The proper sequence should be
(@ RSPQ
@)PRQ

@)PQRS
() PQSR
() RPQS
(d PRQS

When I was a student I learnt swimming at the age of 15 of class X

‘ R : : Q . R
in a government school ' 4 4
S
The proper sequence should be
(a) PQRS :

.(b) PRQS

(c) QPRS

-@)QS?R'

A — GRS-U-EDF
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52..

- 53,

54.

(2
(b)

" becomes

@) B

PART - B

Which one of the following devices
changes low voltage alternating current to
high voltage alternating current and vice -
versa ?

(a) Generator

(b) Motor

Vibrator

(©)
@ -

(b) Magnetic equator
(c) Geographical pole

(d) Tropic of Cancér

The speed of a car travelling on a straight
road is listed below at successive 1ntervals

‘ofls

Time (8 0, 1 A 3 v d

Speed m/s) O 2 4 6 8

11

‘ Jom Telegram https://t. me/defenceekaksha

Which of the following is/are correct 7
The car travels

1. with a uniform acceleration of
2 m/s%.

2. 16miné4s.

. 3. with an average speed of 4 m/s.

~Select the correct answer using the code
- given below :

that : has Mach .

@ a';bb:ut.;“ml_\mj

3. Fullerenes

Select the correct answer using the code
given below :

(@) 1,2and3

(b) 2 and 3 only
(c) 2only
(d) 3only

A GRS-U-EDF



57, Mt o R ¥ e M S 6L s () @ d 2
HRT ST H ST St et 7

. | (@ 53
N (a) Wﬁﬁﬁw (b) Wtz
(b)wﬁa'_. : (0 M@@am(mmﬁﬁ
(c) FARTEH THIRH o)
@ wE ” | .(c_l) freeda e |

53, fireg T8 (¥1) aaqaﬁaqﬁaﬁ,'z.
. amr—crq"rgr(w)@ﬁf%l I

ﬁm&aﬁaﬁrﬁaﬁﬁw\-ﬁmﬁ@ﬁ“ '

59, fforfag # @

60: ST UpRTme ML AN S oy el e s R
Pren 3 feh i i '

- | O R WA At 2

(a) T (@) FDA

(b) W\ | | (B WHO

(c) s ot | () FSSAI

@ B @ mo
GRS-U-EDF - A . | _1.2 :
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87:

58.

59.

- 60.

.0

Rutherford’s ralpha partic

Temporary hardness in water is due to 61. Glass is a
which one of the following of Calcium ‘
and Magnesium ? : (a) liquid -
(a) Hydrogencarboﬁates ; . (b) colloid
: (b), Carbonates 3 _ S (c) non-crystalline amorphous solid
(c) Chlorides - (d) crystalline solid

(d) Sulphates :
: 62. Cell wall of any fungus is different from
~ plants in having

Stung by halrs of nettle leaves cauge
burning pain.

(a)

(©)
@

saj rasitic disease of
least reactive _
(a) Lithium
(b) Sodi
(c) Potassium

@) Cesium

. Which one of the folIoWing agencies

experiment was respons:ble for. the enforces the ]aws on food security in

discovery of India ?
(a) Electron ' ' (g) FDA |
(b) Proton i : ‘ (b) WHO
(cj Nucleus ; : (c) FSSAI
(d) Helium g | | @ FAO
13 | ~ A-GRS-U-EDF
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- 65.

66.

67.

(@)

Dengue virus causes high fever, rashes
and reduces the number of a particular
type of blood cells. Those blood cells are

(a) Monocytes
(b) Platelets

(c) Eosinophils

(d) Neutrophils

(a)

no endoplasmic reticulum

" (b) nucleus, mitochondria and endo-

- plasmic reticulum

(c) nucleus, mitochondria but no endo-
plasmic reticulum

(d)- no mitochondria but endoplés_r'nic

reticulum is present

By _I-Ieadquarters o

68. According to the Census 2011 the density

of population in which one among the
following States is the lowest ?

(a) Sikkim
(b) Nagaland
(c) Manipur

(d) Mizoram

orld Meteoro_logicai |

- I1.and select the
e code given below

ListII

~ (Place)
1. Coimbatore

2. Pinjore
3; Bengaluru
4. Bong'aigaon

A
:(a)-. i,
b 4

€ TS G RaE SR
i B RE E

A— GRS-U—EDF

Jom Telegram https //t. me/defenceekaksha



' 71.mﬁ!ﬁt€rm%ﬁﬁéaﬁﬁmﬁr&aﬁ 74 wfgan Qﬁm Fq E-20, 2016 (T

FoAl R R fifsg . | @ﬁZOQﬁWWZOIG)Gﬁﬁ%aﬁﬁq

1. 97 3R 3T (<) STeET v TRe 3 Frfalea § @ fra e a0

A 2, el v ey (W) & ¢ e A
SR o HIGH T TF SR Bl (a) SRARY
2. 3D AR A AEER YA (b) iermr
3. TET wwt W A av et qmwww 0 (©) T
35°c%awf‘&raa@ | (D) TS

o, T R P g

AT g 77.maﬁ,‘ﬁwwﬁaﬂmm
ST 7
@) A R R (2) 24 3R
G e (®) 19 3T
OREL R . (© 10 frR
(d) 3Rfe gowom @ 8=
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71.

72

(©

73

. (a)

Consider thé‘ following statements per-  74. Which of the following cricket teams was
taining to Coffee plantation in India : .~ defeated by India to lift the Women’s

‘ i 20 Asia Cup 2016 ?
1. Need warm and moist climate with a WEL 4 hiasld CHp

spell of dry weather during the (a) Bangladesh
ripening period
' (b) Sri Lanka
2. Rolling fields having good drainage

' Pakistan
3. Strong sunshine over hilly slopes (c) .Pakistan

exceeding temperature 35°C (d) Afghanistan

4. Karnataka is the leading producer in :
India ~ 75. Which one of the following was the

_ 3 venue of 2n S Youth Summit
Which of the statements given above are ‘ icials and Youth

correct 7 . s ; i —— \

Dr. Urjit P ¢ 0il L -

recently as Gover a1 icl s the following States of

India, ) y proposed to frame the

immediately prior St rity Act to deal with the
‘ errorism, insurgency,

e violence ?

(®)

Government of India r Pradesh

(d) Professor of Economi it

University
Who among the following personalities is 77. The World Humanitarian Day is being
NOT a Governor of any Indian State ? - observed every year on which date ?
" (a) Najma Heptulla : @ .2-4 October
(b) Ram Nath Kovind . ‘(b) 19 August
“(c) Ach_arya Dev Vrat ; (c) 10 December .
" (d) Arvind Subraimaniam ' _ (d) 8 March
17 - A-GRS-U-EDF
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79;
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A W WA & & ®9 H W Wi

AR T e W o W e a
@ 1,2 3K 3
(b) 23R4

(c) %ﬁl 3R 2

@ 1,3 8R4

(a) 8 widwa &t awafys GDP Ifg ®
®) s w3 7
() 10 wis@ A ST g

(@ A o % G R T
W A9 ue ffeam gRaw i afy
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78. Surge pricing takes place when a service
provider

(a) raises the price of its product or
service as demand outstrips supply

(b) follows Vpreset prices immune to
- demand and supply dynamics

(c) fixes a minimum price for its services

i f

~ or States or wins at leas
cent (2%) seats in the
People (i.e., 11 seats i
House having 543
these members are ele
least three different States

3. The party in question has got

recognition as a state party in at least
two states

4. Tt must have 1ts headquarters in
New Delhi

Join Telegram : https://t.me/defehceekaksha

Select the correct answer using the code

~ given below :

(a) 1,2and3
(b) 2 and4
(¢) 1and2only

(d) 1,3 and4

the following is NOT
oet of the 12th Five-Year Plan ?

DP Growth Rate of 8 per cent

(b) .Agriculture Growth Rate of 5 per
cent '

(©) Manufactufihg Growth Rate of 10

per cent

(d) Increase in green cover By | million
hectare every year durmg the Plan
pcnod
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(a) I s b e il o (). 1=1s ¥R (=3 s T QerEA F01
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farfirse oam anfan st € o (d) r=4s 3R /=105 R SAEAT H0T

(c) Tal 3R A&l | ST TIMR 3
W, FaeA faftr & grr g 8 ‘ ‘

uTeredT s gidl

83. T ¥ FYE

84. o ot we o gy ) S <l

3 il o | ”  86. TS = ATell U IW Feedl F ARG
- 200 % | Frocht 3 et w35 R F A

| i TR = 7 A, P & o A
‘ oA o 27
4 E/\ | /\ /\ ~ (@) 5Q |
0 2 4 6 ‘8 W(SI)O. (b) 10Q
| . | (c) 200
. (d) 40Q
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82.

83. Tl

(d) quenching

84.

Which one of the following statements is
NOT correct ?

(a) In the conduction mode of trans-
ference of heat, the molecules of
solid pass heat from one molecule to
another without moving from their
positions

(b) The amount of heat required to raise -
the temperature of a substance is
called its specific heat capacity

(c) The process of heat transfer i 1n li

The following figure sho
versus time curve for a pa
simple harmonic motion :

Tiwa
\/ o

86.

o Displacement

21

‘A

Which one of the following statements
is correct ?

(a) Phase of the oscillating particle
issameatt=1sandtr=3s

(b) Phase of the oscillating particle
is isame-at.2.= 2’s and-#. = 85 -

(c) Phase of the oscillating particle
issameatt=3sand¢=7s

(d) Phase of the oscillating particle
is same at t =4 s and = 10s

; 'th\t II and select the
correct answer using the code given below

List IT
(Remedy)

1. Concave lens
Bifocal lens

Surgery

- Convex lens

AL

A A W W T

nlar coil of single turn has a
resistance of 20 Q. Which one of the
following is the correct value for the
resistance between the ends of any
diameter of the coil ?

(@) 5Q

(b) 10Q
@) 200

(d) 40Q

A - GRS—U—EDF
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ekl & B ® | f wfer gepre s =t @) st

& HEAT 20 K G WA, Q1 gRArfore §
T B A TS ?

(a) B
®) 2B
(c) B/2

& =

(c) FAKT

d) A

d IB‘/4

88. UH W1

(c) At 6 ""

(d)'%r%ma?r
e Tear g

89. 31 gal 1 Tk T B 2 | I &
oo <7 Hepat @ %

: : (@ 5%
(@) freame (fheeer) g |
(b) AR & 9.
(©) AT (c) 10%
() awm o g o @ 15%
GRS-U-EDF —A' AL i 22
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87.

(2 B

- 88.

- 89,

(©) B/2

(@ B4

In a solenoid, the current flowing through 90. Which one of the following elements forms
the wire is / and number of turns per unit highest number of compounds ?

length is n. This gives a magnetic field B

inside the solenoid. If number of turn per .

unit length is increased to 2n, what will be : (a) Oxygen.

the value of magnetic field in the solenoid ?

(b) Hydrogen

) 28 ' ' (c) Chlorine

Carbon

A homogeneous mixture
liquids. How are they separé

(@) 5%
(a) By filtration |
b) 9%
(b) By evaporation ‘
. V ‘ £ )
(c) By distillation (c) 10%
(d) By condensation g A 1%
oy  A-GRS-U-EDF

Join Telegfam https //t. me/defenceekaksha



93.@@&@3@%8%%%@‘ 95, AT SR avi-gefa o wememm

P . _ st T e R 2
() o e et 7 g Fen w (@ ¥ ()
(© T g g e (cjﬂ%%l«‘é
(d) @-_mﬁﬁa%mﬁmmﬁ | @
TR Y el T W

94. gft I g 11 F WMo g A , Gl m.ﬁﬁaﬁﬁqu@ﬂﬁ%?
ﬁtﬂ%ﬁ%ﬁ 2 3 e , () WEIAEA T

e IW
gt
(I ) et &
A. 3t ' ?
B. T3 st 3 T D |
e & o @
D. St
| et | 98, TN A1 AT TG A AT A e
e P! : - BT ?
e T T @™
(@3, L B4 1
@ B B 1 A by T
@ &2 1, @’ (c) e
O8N A SR B @ ==
GRS-U-EDF - A L 24
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93.

94.

The valency of an element depends 95, Colour vision in human eyes is the

upon the : _ function of photoreceptor cells named
(a) total number of protons in an atom ' : iy Rods

(b) mass number of an Atam o Gk el (b) Cones

(c) total number of neutroné in :'11-1‘ atom | : (c) Blind spgf

(d) total number of electrons in the éﬁtel; | (d) Fow;ea

most shell of an atom

llowing statements
Match List I w1th List I and select ﬁ K o
COITECt answer usin
the Lists :
proteins
B ch compounds
. on carbohydrate
B. Neon
B to i ;
¢ Kryp‘ 5 i  grown to obtain
D. Xenon
Code : | =
; : : ; - 98. The colourful part of the Sunflower or
A B €C D ; - Marigold plantis '
OIS R SR  (a) Flower
(o) 2 1 4 i -. (b) Inflorescence
R e N s () Fmit
@ity 1020 0 80 ¥q (@ Seed |
25  A-GRS-U-EDF
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99, Tt I &I ﬁll%wgﬁﬁaﬁﬁq

Sﬁiqﬁﬁ%?ﬁ%ﬁﬁﬁﬁzmmtﬂ

el IR AT - 3
qHL CogHEIn

(afi) (s )
A TS 1. W@

B. foeaw 2. FAleH

C. AR 3, XTI

D. #IHTE 4, anfesm

100.

.ﬁﬁﬂﬁwﬁ%? |

1. TE FE: T |
ﬁqﬁa@?ﬁ%

2. a9l & foraeor § gt 7 A ferfirsar
3 .

R A9ETE BT ®
4, 7uf & ARY 3R s fafia ® sk
qHT R BT § ‘

GRS-U-EDF - A

ﬁﬁﬁﬁ@m'mmaﬁm
(a) Hae 1 3R 2
(b) 1,2 3R 3
(cj Fad 3 3R 4
@ 2,3 3R 4

102. @Iaﬁ a;aﬁné: magﬁﬁaaﬁrﬁm

| ﬁa—@ﬁ@aﬂmﬁﬂﬁ >
\
K1t (G

-y
A B C D

@ 4.3 , 12
B & 1T B

¢ ey 2 1 3 4
P R Y

()
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199, Match List I with List IT and select the Select the corréct answer using the code

correct answer using the code given below given below :
the Lists : :
e Tst] List I (8);liand 2ionly
(M‘z.neral) (Leadmg_State) ®) 1,2 and’3
A. Manganese 1. Uttarakhand 43 |
B. Gypsum 2. Karnataka (¢) 3and4only
C. Limestone 3. Rajasthan . (d 2,3and4
D. Magnesite 4. Odisha _ : . ;
Code : 102. Match List I with List IT and select the
D correct answer u code given below
(a)
List I
®) (State)
(©) |
(d) . Uttar Pradesh
; ; - and Bihar
- 100. Which one :
correct order of 2. Tamil Nadu
from North - Coast
1) Corbett Ly
- g
Pradesh
(b) Periyar
- Kerala and
() Kamataka .
Coast
@
101. Which of the following are
regard to Indian Monsoonal
1. Largely governed by the topogra- ARt @1
phical features ; :
- 2. Regional and seasonal variation in the. = (a)' 4. 3 1 2
distribution of rainfall L ‘
3. Heavy downpour resulting in L b 4 : - 2
_considerable runoff ' - ) 1 A g
4. Bcgmnmg and end of rain is regular ' RELRE
and on time ‘ @-. 2.3 s
W AR GRS-U-EDF
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103.

Rrsififea R 6 At & ¥ <

TS ferraa & 9E UR ¥ Wat feredl 8 ?

104.

105.

106.

@) ==

@ fg
(b) FAGT

(o) T

(@

el Xt 35 o Y e e
e
(@) T
(®) *
©
@
foresht =

Waﬂ- P
(a) WIH
®) 3
(©) ¥

10 cm 3R 20 cm © | Hi 1 AT
1-5% | 58 o= 1 e (SRR TS H)

- 9q1 B ?

(a) +75D
) 75D

R D

d +50D

GRS-U-EDF - A

a

-'107.ai-§%q$qaﬁmﬁaaﬁﬁqw€ms
U WA AR HT ST Fwd T " | A

Hiefeh @1 8, 30°C =g STl &, ot dAleleh &
ST T TR ZEHRT T THE G ?

(a) T¥ el gig gl
(b) TaE =

st 5 e et 4 8
{1 HAT TR P

(a) I A AN E

(b) Gﬁﬁ%ﬁﬁgﬂmﬁ%mﬂéfﬁ%
3 ‘

(c) 3 freea @%‘%

(@) T HE R T A den fe
T arfids gt @
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103. Which one of the following Himalayan
rivers does NOT originate from across the
Himalayas ?

(a)
(b)

()

- 104.

105.

106.

(d)

The Headquarters of Eastern Rail
- Zone of Indian Railway is located at

(2)
(b)
(c)
(d)

Which one a
is the larges
external trade :

(a)

(c)
d)

The radii of curvature of
a double convex lens ar
20 cm. The refractive ind

Indus
Satiuj
Ganga

Brahmaputra '

United

United Ara
China

s

ex of the

glass is 1-5. What is the power of this
lens (in units of dioptre) ?

. id)

(b)
(©
(d)

Join Telegram : https://t.me/defenceekaksha

475D
95D
+2:5D

+50 D
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'107. The time period of a simple pendulum
made using a thin copper wire of length L
is T" Suppose the temperature of the room
in which this simple pendulum is placed

“increases by 30°C, what will be the effect
on the time period of the pendulum ?

(a)

(b)

(c)

(d)

T will increase slightly

T will remain the same

llowing physical
unit as that of

They contain no electrons

Electrons do not flow easily throug
them et B : ‘

They are crystals

They have more number of electrons
than the protons on their surface

A — GRS-U-EDF



110.

111.

112.

frafafag wifys wiimt & @ foraes wvE
T JATER A & wiay W AE
qear € ?

(a) TEH ¥ TERA AT ERT AT

(b) ZEH TAFTE AT

(c) wiiees # weh ward i wlcRierehar
T

(d) W%Wam%@mm

TS R & waa § fefiaa 7 g

FF T FAT Gel e ¢ ¢

() 3 Je AREERT & Ueh ol (g 4

(b) Treeft 7 e iR i S GER A

GRS—U-ED_F—A
Join Telegram : https://t.me/defenceekaksha

I A
(c) I7% ARSA H WHldd HeM
3% ForsaerT & fory sRs (el b
T Rl
d j@ﬁaﬁﬂa‘sﬁw?&rm
1 =T EEhe H bl i
T 1 g 1 % W gAfd i
3k gfEt & i fod T He E HAN R
Hﬁaﬁ(ﬁ’ﬁm:
it AN g1l
(v & wfaas (forerr)
F HAEA) _
A. 52 9 GEA 1. AT 1Y
srftrfaom, 1985 21y @ %4
, . IReh 18 TW
B. 73 4T "eNEA e
rferfemm, 1992
2. fyem =
C. 61 9 Gumed FFR
afafem, 1988 3 o o
D. 86 a1 @MHA 4. -G h
- artyfaE, 2006 3R T
SRR

30

113.

114.

&
A «B €D
I A CMUS: b
o) . . P S I
6] -~ & - B! &
@ 2 A 8- 4
1857 % figie @ Fraferfag § & @ @

Teh HRUT AT 4T ?

@masarraTe i, fwarfat % aR |
fmaare e MY R IR
gfgat o1 =ui frermar =

(b) @@ SfarsEmil foh T g5 el
UKy 23 S, 1857 @i farfewr amaw =
B17<l B

(¢) forfem §W%Wﬁﬁﬁm‘—cﬁw

@ e wfegami {5 ffes waa & s

& 19 HIeEA o1 ST BT TR AT
R ¥ T

et 1 ) =T, S Ao i wEEE

wifer e ueh s =g At 7

ol el TR @, whtEg T H;
arer & forg forfewr fndier &

#fﬁaawaﬁ%%mm%wvﬂw
¥ form welt srafe @l | ek
fergean g @
wfEg T @ sEs o # fem
- fufryr Svee o saggeEaTat & fog
TETEA JUelet] L™ oI o
for forfear st &t srgafr & wftreg

<t Rreft e < & g e T
Y GohdT AT

(a)

®)

(d)



110.

111.

112.

Which one of the following physical Code :

quantltles does NOT affect the resistance : e

of a cylindrical resistor ? : & RTET

(a) The current through it (a) 4 1 3 2

(b) Its length it 16) - N Ji vk

(c) The resistivity of the matenal used in © 2 5 I 4

_ the resistor , ;

(d) The area of cross-section of the @ 2 1 3 .4
cylinder

- 113. Which one of the following was NOT
a cause of the

Which one of the following statement
regarding King Krishnadevaraya is N¢
correct ? ‘ d) 10€ ] nat t{‘xe British had

(@) He wa sold in the market
(b) i ; -;that 3ritish rule would
o i 1d on the centenary of
Plassey on 23rd June
(©) i
; th British rule
(d) TE . pus The hat the end of British
: ‘ ; to the end of the Kali
v of Ram Rajya
Match List I 3

correct answe

~ the Lists : B . Which one of th owing was NOT

- ListI
(Amendment to the
Constitution of India)

A. 52nd Amendment 1.

Act, 1985 All internal threats were to be

B. 73rd Amendment : ~ handled by the ally alone, with no
Act, 1992 2. Rightto - help from the British
e Education _
C. 61st Amendment 3. Birhavati (c)- Thc'allj_/ was to prov1c¥e‘ resources
‘Act, 1988 Raj for maintaining - a : B.ntlsh -armed
B ' : contingent stationed in its territory
D. 86th Amendment. 4. Disqualifica-

Act, 2006 tionon '_ ' (d) The ally could not enter into any
‘ groundé of agreement with other rulers without

defection L. ‘the permission of the Bn'tish
3L - A — GRS-U-EDF
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115;

C. FEAHE

a1 @ @Il%mgﬁrﬁaeﬁﬁq

3 gt & R T e B e

TEL IR I

il T I
(Tam) - (afew)

A, AT ' 9™

B. AaS@e

ﬁ%ﬁﬂnﬁ@wmmmﬁm

g
" (@) FA@13R3

(b) aﬁaz'aﬁu_
.(c) Fae 1, 2 3R 3

(@ 1,2 33R4

' GRS-U-EDF A

- (@ =%

117, freffen § @ @ @/ a7 g T

Feirt 3 for Wt ST S 2/ o

ST # 7

1. g — oA 8

2, g - HER

3. EFETE — SHRGIE &
4. TER I B
AR & W g w1 TER W FE IR

q H 3T AUSA H

= hEn 5 TF DT F IA A TER
A o ? | m feufq #

T A |, U9 AT HT TR

BT ®

(b) A BT A, U AU F TR

(c) T A A H T A HT EICT

TR

‘(d), i ¥ BT H RO AL R AT

BT e
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115. Match List T with List IT and select the 117. Which of the following regions is/are

correct answer using the code given below * NOT known for cotton-textile industry ?
the Lists : . ‘ ' 5 i ;
: 1. Mumbai — Pune region
List I - List1I. - ; : =

(Place) (Mineral) 2. Madurai — Cmmbé:ltore reg-lqn
' , '\ | 3. Dhanbad — Jamshedpur region
A. Lakwa 1. Copper " KRR

i ‘ 4. Indore — Ujjain region
B. Malanjkhand 2. Petroleum :
‘ 0 i Select the correct answer using the code
~ C. Kalakot e Sedine. given below :

D. Zawar ‘ | 4. Coal

Code :

®) 7 ing States does
) g : {eadquarters of any

116, Which of the ]lo}

- 2. Guifoof Mannar™" a rod is given a negative charge
: : it with wool. Which one of

3. Lakshadweep, g statements is correct in

4. Andaman and Nipobai' sland : : _
(a) The positive charges are transferred

Select the correct answer using the code T E e : :

given below : ) _

B (b) The positive charges are transferred
(a) land3only e - from wool to rod
(b) 2 and 4 only £ " (c) The negaﬁve charges are transferred

o from rod to wool
(c) 1,2 and 3 only
; . : (d) The negative charges are transfcned
()1, 2, 3 and 4 . : - from wool to rod

33  A—_GRS-U-EDF .
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120.

121.

122.

I(d) f=2new

SRt (/) S ot sy (o) % A 7@ e
ey, frafafer A w A 2 2 123, ¥4 F = r‘ & forg fraforfea # &

o g i, aﬁ?ww“@%(ﬂﬁuﬁiﬁaﬂm“'
(a) f‘“m s ) _ ) 7 .

®) o=2af | ' (a) ¥R G, {[@%W%wﬁﬁm,

 F=dh gqtﬁ‘rftmw"r%

| (b) uﬁ‘rG qﬁﬁmmaﬁm%

(a) 574
(b) 301

tc) g .

(d)_r 232

@ ﬁam%ﬁmmw@m | @ T U

GRS-U-—EDF A 34
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120

121.

122. 3
- X-ray tube is doubled while

Which one of the followmg is the correct 123. Which one of the follq{ving‘ statements
relation between frequency f and angular , ! Gm,m,
frequency @ ? - * " is true for the relation F= -—-—}2—- 2
- y 4 ; 3 ! r
: All sy1 i i
@ 7= (All symbols have their usgal 1-11ea_11111‘gs)
A (a) The quantity G depends on the local
() a) =2zf value of g, acceleration due to gravity
) f=20/z (b) The quantity G is greatest at the
surface of the Earth

A f=270
o tity \ used only when
earth is one of the two masses

If the potentia

separation between the filamen
target as same, what will L
cutoff wavelength ?

125, Radon is

(a) Will remain same _
- Fa e (a) an inert gas
(b) Will be doubled L
. (b) an artificial fibre
(¢) Will be halved e e
: (c) anexplosive

(d) Will be four times of ‘the original

wavelength ‘ : (d) ametal

35 ' A— GRS-U-EDF
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126. ST HreT 1 IR TH FTE ? ' 130. W@ﬁaﬂﬁﬁmzﬁwg@ﬁm

() Na,CO; 0 fefRmRdem@d e
®) NaHGO, - ° () e # Rt e fe
o _ Tig S
e ©) S S
o A HETAYU! &I SATER 4T
127. Freafifaa # & @ @1 a, IRe-as (9) e ftar Fradt fee % w9 7 fafea
(e ifee) Awgh BT g 7 | a1

(d) W%ﬁrﬁmwhﬁusmw

(a) STET .

(B i (),

(c) (3 .

@ fe Elccai
128, “freml .

Y Teh AT, . :

(b) SETERAT Aee

(c) gd&T .
129. < GG o TRA (ol SIECRICE Y wE ot 7
FU gel AR & ? | (@) WRAH 3 h TOAT H A L
(2) OV AN, AR AT 3R %Hﬁj_zigwqﬁﬁ
# - .
gﬁmﬁﬁ = St e T, St s
' B W AR ToTEd § 9 BR1
- () T A, wﬁ@aﬁaq@ﬁ , & Prfrer SRR
g H T icy ,
(c) T i offe SRt g, e A @ YR % fmi @ @ R Fef
(&) | W ¥ Fer § YEE R o’ A e § S, feg e
STRIFR e T T S AT A  HARE SRR TR & S 3 GeEd
S - | | HEAT g
GRS-UEDF-A 36
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126. The chemical name of baking soda is

127.

(a)

Na,CO,
NaHCO,
CaCoO,
NaOH

(b)
(c)
(d)
Which one of the following elements is
used in pencil-lead ?

(a)  Zinc

(b) Lead

(c) Carbon (Graphite)

‘ (d) Tin

128.

129.

Who among the following is one of the
authors of the book “Philosophy of the
Bomb ?”

(a) Bhagat Singh

(b) Jawaharlal Nehru
(¢) Surya Sen

(d) Yashpal

Which of the, following statements about
the Chittagong\group is NOT correct ? -

(a) Its membership included fa large
number of youth including Ganesh
Ghosh, Lokenath Baul/and Anant
Singh

()
lawyer in Dhaka before joining the
group

(©)
associated with Congress work in
Chittagong

This group had prepared an action

(d)

plan to occupy the armouries in

Chittagong

Surya Sen and his group were closely

Its leader Surya Sen had been a -

37

130.

®

131.

132.

Which one of the following was a
significant feature of the Quit India
Movement ?

(a) Women did not play an important role
in the movement

Nasik in Maharashtra was an
important regional base during the
movement '

(c) It was marked by anti-zamindar
violence

(d) It was marked by the emergence of
parallel governments in different

parts of India

Which one of the following characteristics

does NOT describe the Khilafat move-

ment ?

(a) Mahatma Gandhi sought to link it to

the Non-Cooperation movement

(b) It was not supported by the Congress

(e) It demanded that the Turkish Sultan
./ must retain control over Muslim

sacred spaces in the erstwhile

Ottoman empire

Tt/was led by Muhammad Ali and

Shaukat Ali

d

Which one of the following was NOT

a feature of railways in colonial India ?

(a) The main purpose of the setting up of
railways in India was to serve the
‘interest of the empire

(b)

British capital investments were
invited with 15% guaranteed interest
to be paid if necessary from Indian
revenues - :

The construction work disturbed
ecology

(©)
(d)* The construction of the railways
was planned. in such a way that it
connected the internal markets with
the ports, but provided no inter-
connection between internal market
cities

A — GRS-U-EDF
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133. 1904 ¥ S BASH ¥ AR # BRE 137, 9R  TER % GIGHR AW 1L,

SutRel wumes 3 Frafafag dwomdr 2 0 TR SR wem” a1 @l Fem & A d
iy e o R | Gl s S e e ? s
frfirer Tt <ht 3R e | 7e P e B (a) g Hod

sRm AT H T Y (b)) ARA

(a) WSt | R O

() T R (d) HEwHe e

et 138. wﬁwfa@imwﬁamﬁwr%ﬁaa
d) W AR W

_ I 3 @ e ﬂ%a—qﬁﬁwﬁ
134. 491, 1928 i TaTe HRIE = e e \

(CY

135. af s

- q fru fow

fepa 2

(a) WHETR

ROE

(c) VATTG
(@) AT

156.&@@%%%% 7 o
& g U e,

(a)

g | 3G o

(b) a‘e’ﬂ?f@tﬁﬁwﬁﬁma?{%ﬁ |
© v e e P e T
mwésﬁﬁwaﬁaﬁéﬁﬁw_ @ 3
T | e
(d)eraﬁ%%ﬁv@mmﬁrr{qt@ @ 4
trqﬁu%amamﬁmmﬂﬁ%m )

— NN =
Wit R
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133.

134.

135.

136.

~(c) Junagadh

Which colonial administrator made the 137. Name the calligrapher in Akbar’s court
following declaration about the partition who was honoured with the title “Zarrin
of Bengal in 1904 ? “Bengal united is a Kalam” or Golden Pen

power. Bengal divided will pull in different (a) Abul Fazl

ways. That is perfectly true and one of the

merits of the scheme” (b) Tansen

(¢) Muhammad Husayn

&) Lo Cizon (d) Muhammad Kasim

(b) H. H. Risley
(c) Lord Minto
(d) Sir Lancelot Hare

138. Which one of the following sections
of the Golden Quadrilateral Highway
in India is the longest in terms of -
route distance ?

Who launched

4th Febru

(a) Maha

(b) Vallabhbh |

(c). Rajendra P = :_b'-v_ 2 i - List II and select the

(d) Kalya = ot code given below

Which one| of I ng [ Princly |\ | A ] | Listhl

States did ' ‘ (Example)

during the |

obedience Hydel power
'Bh

(a) avna o

3. Solar energy

(d) Kathiawar 4. Natural gas

Which one of the followi
of thought and philosoph

Kandukuri Viresalingam ? ‘ D. Non-conventional
7 ‘ : non-renewable

(a) He believed that science and morality resource

were unconnected to truth '

‘ . Code :

(b) He believed in universal education R0 \IEET TR o LSS, |
(c) He believed that language had no role (@==8 « 2 r 4

in inculcating morality in students = . ®) 3 ey 2
(d) He did not attempt to build a national U )L T B

consciousness on a cultural base d 4 7) 1 3

39 ' — GRS-U-EDF
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L0 IR O W gt AR 143, @maﬁ%\rﬁmﬁmﬁﬁaﬁﬁm
AR ghE F TR R Mg m AR . o R el B b R, ¥ I WU o

e SW AN & AT +¢ T E | FE A - T R FE-a=
oy | - W E @ wutm T 2| o wew
L | gl frrfrfm 3 & @ AT o R 7
(@t wma) (Tr=) '
A'E e (@ E=0 %ﬁﬁml(aﬂ%)a<_r<b
e 5 b) E=0 %ﬁm(‘q’r@r)rw
C. wEiR-wR g . o (c) E = qlamey a?f%fq(ﬂ'ﬂ% a<r<b.
D.ﬁ'a-ﬂ G4 " & (E'R%) r<a
& : | ﬁi‘l’(ﬁﬁq
P
@ 1
() R I
(c) 4
E) 4 |
_ : (2011 Y ST H
141. ST SR T84 < - TR | STEEAT o wfied &
@ T \ B\ ‘ A HH BT E
(b) wfe
() T
(@) et

142, 7 w9 SR arlt w1 fRAE s -145..awangwmﬁ@aﬁmﬁi§aﬁﬁﬁ#.

AN 3/2 3K 4/3 7, A i AR A a5
~ TRTST S AT HT SITT FIT BRI ? ‘
e | (a) 3rega BIfiE AR
(a) 3:4 z | ;
® 4:3 e FORECSA=C
() 8:7 . i (c) T W&l
@ 8:9 @ wgEEEE
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140.

141.

‘Match List I with List II and sé_lect the 143. A positive charge '+q is placed at the

correct answer using the code given below centre of a hollow metallic sphere of inner
the Lists : ] radius a and outer radius b. The electric
L : > ; field at a distance » from the centre is
ListI List 11 denoted by E. In this regard, which orie of
(Mineral - (State) the following statements is correct ?
deposit) : _ :
~ A. Gypsum 1. Odisha &) it O fOE i sh
B. Graphite 2. Gujarat (b) E=0 forr<a
C. Fluorspar .. - .3, Arunachal Pradesh () E=gqldngy fora<r<b
D.Nickel 4 Rajasthan '
Code :
an States
A
(a)‘ 1
®) .1
© 4
@ 4
g is the correct
Which one ¢ above States
 Tribe and rcentage of State’s
matched ? e po lation of India
(a) Tharu
(b) Adi
. (¢) Imla |

142.

(d) Shaharia

If the absdlute refractive ind
and water are 3/2 and 4/3 respectively,.

what will be the ratio of velocity of hght in 145. Who among the following was the author

glass and water ? of the Badshah Nama ?
: b) 4:3 | . (b) Abul Fazl

© 8:7 j © (©) ShahJahan

d 8:9 (@ Sadullah Khan

41 ; ! A - GRS-U-EDF
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-1.?@3?@
(b) m%qﬁwﬁmﬁﬁqmwﬁa |
¥ TR AT TR H T Hehel 2. M
g i fast 1 sifpa fopan | |
3. Ye forem

(c) WEE! WANER A FeFg FLAI,
qafffart Y HTert <t e W

(d) 1585 H

(d) ST n 5 iR 2016 @ T
148. T Fz i@ |

s e | () e T A 3, AR 3y R
(®) Eﬁm%@ﬁ%aﬁﬂ?mwaﬁ%@ e wafa & Wl & S T
AT L T@ET AT . : '
(0 WRd # Wy FHRGA # wra- (o) THEAF F WA TR H‘;%ﬁﬁ
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146.

147.

148.

Which one of the following statements
about Fatehpur Sikri is NOT correct ?

(a) It was located on the direct road to
Ajmer

(b)

Akbar commissioned the building
of a marble tomb for Sheikh Salim
Chisti next to the Friday mosque
at Fatehpur Sikri

(c) The arched gateway or Bulund

Darwaza was meant to remind..

visitors of the Mughal victory/in
Gujarat

In 1585, the capitai of the Mughal
emperor shifted from Fatehpur Sikri
to Delhi ‘

(d)

Which one of the following cities hosted
the 3rd World Trauma Congress recently ?

(2)
(b)
(©
(d)

New Delhi
Dacca 7
Singapore

Bangkok

Which one ‘of ‘the following is NOT

one of the objectives.of Act East Policy ?

(a) To promote economic cooperation,
cultural ties and develop strategic
relationship with countries in the
Asia-Pacific region

(b)

To promote peace and amity with the
neighbouring countries of Asia

India-

(c) To place emphasis on
ASEAN cooperation

domestic agenda

To provide enhanced connectivity
to the North East of India

(d)

in India’s

43

149.

150.

Arrange the following countries in
ascending order on the basis of the total
medals earned by them in Rio Olympic
2016 :

1. United States
2. China
3. Great Britain
4. Russia

Select the correet, ahswer using the
code given below :

(ay -1, 2,8,4 °
(b
(e) 4, 5, 2¢ 1

(@d 4.3,1,2

Which one of the following is NOT an
objective of the National Civil Aviation

“Policy 2016 ?

(a) Establish an integrated eco-system
which will lead to significant growth
of civil aviation sector

‘To promote tourism, increase emp-
loyment and lead to a balanced
regional growth :

(b)

(c) Ensure safety, security and sustaina-
bility of all sectors through the use

of technology

Enhance regional connectivity
through fiscal support and infra-
structure development

(d)

A — GRS-U-EDF
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : GRS-U-EDF e Test Booklet Series

TEST BOOKLET
GENERAL ABILITY TEST

Time Allowed : Two Hours and Thirty Minutes © Maximum Marks : 600

INSTRUCTIONS -
1. IMMEDIATELY AFTER THE COMMENCEMENTrOEyPHEIEXAMINATION, YOU SHOULD

N

CHECK THAT<THIS'TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IE.SOmaEf=ITaREFLACER BY /% COMPLETE TEST
BOOKLET/ -

Please note that it is the candldate s responsibility to encode and fill in the Roll Number and
Test Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection. :

You have t0 enter your Roll Number on the  Test
Booklet in the Box provided alongside! DO NOT
write anything else on the Test Booklet. -
This Test Booklet contains 150 items (questions) in twio. parts : PART — A and PART - B. Each
item in PART — B is printed both in Hindi and English. Dach item comprises four responses
(answers). You will select the response which you want to mark on the Answer ‘Sheet. In case you
feel that there is more than one correct response, mark the response whlch you consider the best.

In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet prov1ded See directions
in the Answer Sheet. .
All items carry equal marks.

. Before you proceed to mark in the Answer Sheet the response to various 1tems in the Test Booklet,

you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator enly the Answer Sheet. You are permitted to take
away with you the Test Booklet. -

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.c., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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